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13. %/3—0=4

= ="
¢
A)9 B)-L  O1 DH?
14. L=2=..x=?
4
1+ l
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2+x
A)-2 B)-1 )0 D)1

15.

E)3

16.

7x-120 =1
(

)323-I Tx

esitligini saglayan x sayilarinin toplami kagtir?

What is the sum of the number of x that provide the
equality?

245 254 323 373 377
A) 5 B) > C) > D) = E) >

4 1 3
a,b,ceRt ,a.b=-,a.c==,b.c==
9 3 4

ise asagidakilerden hangisi dogrudur?

If a,b,c € RT ,a.b =§,a.c=§ ,b.c=% then

which of the following is true?

A) c<b<a B) c<a<b C)a<c<h

D) a<b<c E) b<a<c
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17. 8x 10 esitsizligini saglayan tlim x
(2 3)2 >1 sayllarinin kiimesi nedir?
X —
What is the set of ail number of xthat
provide the inequality?
L6 1,6 3| (0.6)-13
A) (-1.6] B)P’)"ﬂ' C)0.8)-13
4 3 3
o) s
18. )
TH sl
x-y<0
A)-2x B)-2» C)0 D) x—} BE)Zx
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21. - 1) = 4 . J 23 ol
s(B)=6x, s(BNA)=9, s(4NB)=x* = x=7 f{%+2]=§—4, g(x)=xTa = (7 eg)3)=7
A)3 B)é c)9 D) 11 E) 20
A) b B)8 c)9 D) 11 E)12
22. A={x:|lx+1|>2 x€R} 24. f(x)=2""f(x-1). f()=1 = £(50)=?

= s(ANB) =7
B={x:|lx—1|<5, x€Z}

A) 21220 B) 21222 C) 21223 D) 2?224 E) 21225
A)4 B)5 C)é6 D)7 E)8
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25. ()= +-Lg(x)- xT—I: (j‘og")(l) =9

A1 B)3 C) 11

26.

Px+1)=3x"-2x+6 = P(Q2x-3)|x+2

?

A) 6 B) 22 Glils2 D)192 E)214

E)4

Paraboliin denklemi

y==x"+mx+3 tir,

|b—a|=4, |b|>|a| = m="

X

A)14 B)12 C)8 D)6
28. y
3
7 | Y
A)-4  B)-3  C)-2

Equation of given parabola is
y==x>+mx+3

|b—a|=4_. |b|>|a| = m="1

D)1 E)2
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29,

\ f 30. Z Z.
\ -~ / =342, z,=1-4i = Im|-L|-Re|-L|=?
\ =23 /-c({o.a) \ / z,=3+2, z, i = m[z2 e :
".\‘ /K / \ /f,-"f
\ 1
\ -9 9 -19 19 1
W \ / M B B B BPF
)(A={x.| 5/2) /Bz(x2,5x2)
/\ /\
I.-’ \\ / \'\‘
/ \ / A
ffj \\ \\,
/ / \
! 2 T \
/ \
/ \
/ g(x)=-x*+bx+c '\\
/ \
J(x) ve g(x) parabol = g(x)=?
If f(x) and g(x) are parabolas = g(x)=7
A) —=x*=2x+4  B)-x*+2x+4 C) -x*+2x+8
D) —-x*-2x-8 E) —x*+2x-4
31. =2019
il 'rf'ro _1+I&0&1 =7
Y
A)5-i B)5+i C) %‘ D)1-i E) L+i
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D) —— E) —
) x -3y 41 ) v+l
33. ge_g~
7 7 =2%x=‘?
3
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log. 2

Jlog5 [g ]1og5(1 0)

1
A)log.2 B)iog,5 C)log,5 D)E E) log,.2

—siny ="

35. () ==x"+ax*-5x+3, glx)=3x"+2
Z(f+8M) =8 —a=?
A) -1 B)-2 c)o D)1 E)2
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et _!'f(x)f(x)cbc=54, Fla)- F(b)=18 #%;;

A) -1 B)O C)._!_ D)_l_ E)1
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A) 65°

42.

B) 70°

C)75°

A)5

22

B) 10

Crl2

|BD| =2, |DC| =22
— A(ABD)="?

D) 15

E)18
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43, P
[ABH[EF
m(ABC) =25° |45|=8
m(DEF) =140° |BC| -
m(BCD) =80° & IOCI - 2\/5
m(CDE)=a=?
__ =-.|OD|=?
B
D)80° E)85°
A2 B2 Ca2f3 D4 E)26
44, ; (o] oD or c H
|4B|=|4c D@ n/ 2

Which of the following sortings is correct?
A)S5,<5,<S, B) 5;<55<5,

D) S,<5,<S; E) 5;<5,<5,

2r

Asagidaki siralamalardan hangisi dogrudur?

C) 5,<5,<5;
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45, A
B & o]
250
c
A)55° B) 60°

C) 65°

m(BCA)=25
m(ABO)=a ="

D)7 E}75°

ABCD bir karedir
m(DEH) =m(GEB)
A(EFGH)=?

ABCD is a square
m(DEH) = m(GEB)
calculate A(EFGH )

27 29
D) 5 E) >
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47.

)

A) 66°

48. -

ABCDE bir beggen,
ABF bir eskenar Giggendir.
c
< ABCDE is a regular
pentagon and ABF is an
equilateral triangle.

m(BFC)=a =2

B)65° C)64° D)63° E)62°

ABCD paralelkenar

ISEN

|EF1-::, |FG]=6 - x=7
[+

ABCD is a paralellogram
|EF|=2, |FG|=6 = x=2

W2 02 E) 4

- 12 -
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50. ‘
C
D= (-8, 8)
B
A= (-6, 2)

ABCD bir kare ve |AE| =3|EC.'| ise

|EB| ‘nin uzunlugu nedir?

If ABCD is a square and |A.E| =3 H('.'.'l then

what s the lenght of the |EB| ?

AS  B)W2 O25 D)3 BN
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53. Asagidaki seklin katlanmasiyla olugabilecek kiip
hangisidir?

Which cube is the folded form of the following shape?

O olo O
O O O
o oOlo oo o
O olo O
= = 0O
O olo oo
O OO o
O 0 ?
0o olo ol =
= w
Al o el o o O
0 O
D) ] E) @)
o
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55.

JANEY |

56. “

N

Asadidaki sekillerden hangisi yukandaki sekille dzdestir?
Which shape below is identical to the shape above?

\ \
A) w BN s O
B 3 e
¢ = ’/ e
/__,\\ \ ;
f'\’\_//')
Dy &~ N\ E
M Ny B
'\._\ - o ‘:.r’ (
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57. .

Yukaridaki sekil saat yoniinde 225 derece déndiriiliirse
agsagidakilerden hangisi elde edilir?

Which of the following is the shape above rotated by 225
degrees clockwise?

58. ABC

ABC
ABC ~ A+B=?
4+ ABC

1704

A)S5 B)6 C)7 D)8 E)2

59.

Sekilde kag adet kibrit (1 birim uzunlugunda) vardir?

How many matches (1 unit long) are there in that figure 7

A) 32 B) 38 C)42 D) 45 E)48
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(2,7) (3,10) (4,12) 6.17)
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& L = [1 9]

D) E)

61. Asagidaki aritmetik diziye gére a,=?

According to following arithmetic sequence, calculate ay

S5 |{.].].]|.].150
d l
a, a2
A) 20 B) 25 C)30 D) 35 E)40
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Ll

Number of ray I 1 I

I 3
§In sayisi
-l VDV CIE
A)8 B) 9 C)10 D)11  E)12
63.
+ | X |[O|A
A @ * O = 4A="7
O|V|Ne|*x
A) Y B)A OB V4 DO B
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A) xxA  B)xAA  C) xxAA
5. A ® ¢ o]
® o @& O
5123
0 O ® A}
O @ o 0 3256
o 0 A @
O ® o ¢ =?

A) 1765 B)5123 C) 6537

D) «AAA  E) xxxA

1765 2671
6537

D) 3256 E)2671
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66.

ab d?

ala

c? c.d E
d

Yukaridaki sekilde a,b,c ve d birer pozitif tamsayiy
gSstermektedir. Asagidaki verilen sekle gére B-A=?

a, b, c and d denote a positive integer in the above figure.
According to the following figure B-A=?

A
6
6
36 B 3/4
A)30 B) 36 C)-12 D) 15 E)-9
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67. 2, 6, 12, x, 42,.. x=1? 69. 1% ox] e [®][x]x
x| x/e] [ox|x] [x[e]x ?
AJ14  B)20 C)24 D)34  E)40 (xlelx] [x[x]e [e]x][*]
[*|[x][®] *|[*][@ *|[*][®
[*|[x][®] B) [*|l@]x] C)[@]*]x
@ (x/l®][*] B 0E
[x][@][*] *][®
D) [#][x]le] E) [x][x][e]
[%][@][*] [@][x][*]
70. Hangisifarklldlr?
Which one is different?
;f
\ / \
\\ \\
A\ :/ B) b | a2
o LA _
) / D) ot
E)
18 -




